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E = jE.di = -&@  = +-jjjd;c s . (1.19)
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r = aE (1.29)

--
VxH = T+Td  = 7+/3h (1.31)

--
VxH = /g

VxE = -g 1
(1.32)

i(i;xH)  = - iwbE

i(kxE)  = iwE
(1.34)

(1.35)
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a-DxE  = --B
at

VXH = jtp

V.D = pe V.B = 0 I
(1.42)

b.Jaai=Y~“sbna-h  T.(~xH)  = 0.J +  $p.D, = 0 (1.43)

bkwa7n-h V.D = pe bs?lueiln~lu (1.43)

--T av.J  + xpe  = 0 : mm-mawdob~o~  (continuity equation)
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--
VxE = a-

-;ilB : $i?.di = d @e-ai (1.44  n)

VxB = a-
m,m  x E

- -
V.E  = 0

V.B = 0

(1.44 ll)

(1.44 fl)

(1.44 9)
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+M% Ew = Bwc

B = G (1.48)
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a’ “(X t)
a2 ’

= Jc  a” u(x t) = l a”
T at2 ’ 7 at2 u(x,t)

J T
C E

111
(1.50)
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s s’

Y Y’

#”

0 0 x ,  x’
f

x’ = x - vt

Y’  = Y (1.51)

z’ = z

t’ = t
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y = A ~0s  2,7v ( t - xcosa; ysina  ) (1.52)

v t-( xcosa;ysina  ) = v (t _ f) = F

s S’

Y Y’

x x ’
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F = ,,’  (t’  _ $) = ,,, (t,  _ x’cosa’c~Y’Sina’  ) (1.54)

v(tl - (x’+vt’)cy+y’sina  ) = \,, (t,  _ x’cosa’ct;y’sina’  ) (,.55)

y’ :
v’sina’ v s i n a

c’  = c (1.57)

x’ :
v’cosa’ vcosa

c‘ = c (1.58)

twniad  (1.57) w36auaamia  (1.58) 9X tan a’ = tana l-40

a’ = a (1.59)

2 4 PH 340



VXE  = ai%-at (1.42a)

VXH = j+&6

V.D = PC
- -
V.B = 0

(1.42b)

(1.43c)

(1.42d)
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x’ = x-vt

Y’ = Y (1.51)

z) = z

t’ = t’

lp = A cos  zav t - xcosa;ys’na
( >

13bK v' = v (I- +cosa)

a’ = a

C’ = c (1 -  +cosa)

(1.52)

(1.56)

(1.59)

(1.61)
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1.7.1

1.7.2

1.7.3

m¶J :

1.7.4

1.7.5

@lmJ :

1.7.6
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@E = EA = E&t)
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mml  : r > R E = - (&I  (&JR

r < R E =

fhM6Sh  : B = _ ihI POPV- = -- ,
2rra 2na

F = q(E+vxB)

7.

a.

BlmJ

9.

?MRl%¶41 g* "(X t) = f!- a'
ax ’ T at2

u(x,t)
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(Q)  (Wmax  = m ($-),,,

mm  :  (n )  12  mwio3u1~

w 3 LaJWT

(t-l)  y(x,t)  = (2.0X  10-q  cos F ( x -  lzt)

(3) ($jmax  = kcA

(8) (Fyhnax  = 9.1 x IO-~  GaG.4
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